
Prüfungsaufgaben Aufgabe 232b 

 
 

 
 



3.1 

 
39 = y0 * 0,56/30 

 
39 = y0 * 0,50,5 |:0,50,5 

 

           39  
y0 = --------- = 44,8 mg 

         0,50,5 
                 

3.2 

       

8 = 13,5 * 0,5x/30 |:13,5 
 

0,59 = 0,5x/30 |lg 
 

lg 0,59 = lg 0,5x/30 
 

                x    
lg 0,59 = --- * lg 0,5 | *30 

               30  

 
30 * lg 0,59 = x * lg 0,5 | :lg 0,5 

 
       30 * lg 0,59  

x = --------------- = 22,84 --> im 23. Jahr 

          lg 0,5  

 
3.3 

 
y = 44,8 * 0,510/30 

 
y = 44,8 * 0,51/3 = 35,56 mg 

 
Verhältnisgleichung: 

 

44,8 mg : 100% = 35,56 mg : x% 
 

 
44,8 * x = 100 * 35,56 | :44,8 

 
      100 * 35,56    

x = -------------- = 79,38% 

           44,8    


